[bookmark: _GoBack][image: ][image: ]
image1.png
)[B oy books googlecot bookste

onestests ~ B & X |[ [ Successat AQA Physics.

55 The Student Room - Post New...

) 2's 23

Edit View Fvorites Tools Help

GOOSI,E in one test the astronaut experiences a horizontal force 4.0 times

Books

‘GET PRINT BOOK

No eBook available

Oxford University Press
Amazon.co.uk
BookDepository
Waterstone's

WHSmith

Blackwell

Findin a ibrary

Find local bookshops
Al sellers »

el

0 Reviews
Wiite review

Success at AQA Phvsics B.:

a B 51 @2 Addtomylibrary v Wit review

Page 13

|| Result 1 1in s bookfor none et the astronaut expriences  hoizonta foce 40 tmes

Clear search

experiment or application.

EXAMPLE: To simulate the high accelerations
experienced during take of, astonauts are
trained using asystem similar to the one shown
inFigure 1.

Fgure 1.1
‘The astronautsits, a shown, and the system is
accelerated to a high speed.

‘The centre of mass of the astronautis 20.0 m

from the axis of rotation.
(a) Exolain why there is a horizontal force on the

Comprehension

The best approach to 3 comprchension question
depends on the individual.Different teachers may
recommend diferent methods and you should find
outwhich approach suits you.

‘The following is one suggested approach:

 skim-read the passage to get the gist of what
itis about

 read through the questions to familiarise yourself
with what aspects of the passage you need to
concentrate on

 read the passage carefully, noting information
that you identify aslikely to be relevant when
answering the questions (in the examination you
‘may wish to underline or highlight the relevant
information)

« answer the questions referring to tose parts of
the passage that you have identified, or o those
partsthat you are directed to by line references in
the question

‘« answer the questions sequentially as some later
questions may need answers rom earlier parts.

‘When answering a question:
« do ot copy chunls of the passage
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